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Reasoning – Solutions (సమాధానాలు)  Set-3

 

S1.Ans. (a) 

Sol. Pollution at ground level is the most 

hazardous in the way of being injurious to 

human and animal life. So, argument 1 alone 

holds. 

 

S2.Ans. (b) 

Sol. I is weak because reduction of workload of 

IT officials is not too desirable a motive. II is 

strong because reduced tax collection will 

have a bad impact on state activities. 

 

S3.Ans. (c) 

Sol. Free passes given to the railway 

employees is a privilege to them not their 

right. So 1 doesn’t hold and 2 is vague. 

S4.Ans. (b) 

Sol. Oil being an essential commodity, our 

country must keep it in reserve. So argument 

1 is vague, while argument 2 holds as it 

provides a substantial reason for the same. 

 

 

S5.Ans. (d) 

Sol. Import of sugar is directly related with the 

domestic production of sugar. If import of 

sugar is banned then it will result in hoarding 

of sugar besides increase in its prices (due to 

less supply than the requirement). Hence I is 

strong.  

Note that availability of a commodity keeps the 

prices of the commodity under control. Hence, 

II is strong. 
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S6.Ans. (c) 

Sol. Privatization would no doubt lead to better 

services. But saying that 'this is the only way ' 

is wrong.  

 

S7.Ans. (a) 

Sol. I is implicit: when urge someone to do 

something, you assume a positive response. 

For the same reason, II is not implicit. 

 

S8.Ans. (b) 

Sol. Only assumption 2 is implicit, as argument 

is about smoking in public places. 

 

S9.Ans. (c) 

Sol. Clearly, People cannot be deprived of 

enjoying the festival for lack of arrangements. 

 Also, it becomes necessary to deploy police 

to regulate big crowds and avert any mishap 

in public gatherings.  

Further, it costs nothing but might prove useful 

to put hospitals on alert to be ready to provide 

quick medical aid to patients in case of any 

eventuality.  

So, both b and c follow. 

 

S10.Ans. (d) 

Sol. The police ought to find out the lackenings 

in existing security arrangements and make 

up for these inadequacies to strengthen 

security and thus prevent these activities in 

the forthcoming lockdown days.  

Arresting the known criminals in advance does 

not ensure safety, because a novice can also 

indulge in robberies. So, c does not follow. 

So, both a and b follows. 

S11.Ans. (c) 

Sol. 

 

Some fruits may be of red color. 
Some shirts may be red color. 
Fruit is different from shirt. 

 

S12.Ans. (b) 

Sol.  

All nieces are females. 
Some cousins may be nieces. 
Some cousins may be females. 

 

S13.Ans. (c) 

Sol.  
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Anteater is different from Tiger. But 
both are mammals. 
 
 
 
 
S14.Ans. (d) 

Sol.  

All pediatricians are doctors and all 
doctors are certainly adults. 
 
 
 
S15.Ans. (c) 

Sol.  

Whale is a mammal. Fishes belong to 
the class Pisces. Crocodile is a reptile. 
 
 
 
 
S16.Ans. (a) 

Sol.  
 

Some tall men are black–haired and 
vice–versa. 
Some tall men are Indians and vice–
versa. 
Some black–haired are Indians and 
vice–versa. 
Some tall men, who are black–haired 
are Indians. 
 
 
 
 
S17.Ans. (d) 

Sol. The number 11 is present in all the four 
figures. Therefore, it will represent. 
Unmarried Educated Sports-women 

 
 

S18.Ans. (a) 

Sol. The letter ‘A’ and ‘B’ are present in the big 
triangle and are outside the circle and small 
triangle. 
 
 
 
 
S19.Ans. (b) 

Sol. Students studying Arts and/or Economics 

 A, M, O, N, C, D. O and N are common to 
Arts and Economics. 
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A, M, D and C are studying Art or Economies 
but not both. 

 
 
 
 
S20.Ans. (c) 

Sol. The number of persons who do not play 
any game 
= 40 – (25 + 22 – 16) 
= 40 – 31  
= 9 

 

S21. Ans.(a) 

Sol.  

 

 

S22. Ans.(d) 

Sol. Except JLN, all follow a pattern of -2, -2 

 

 

S23. Ans.(c) 

Sol. Order according to dictionary: 

5.Signal , 2.Silver , 4.Simple , 3.Sitter , 1. 

Situation 

 

 

S24. Ans.(c) 

Sol.  

 
 

 

S25. Ans.(c) 

Sol.  

 

S26. Ans.(d) 

Sol.  

 

 

S27. Ans.(d) 

Sol. We have: 5 × 3 + 4 = 19 ; 6 × 4 + 5 = 29.  

So, missing number = 7 × 5 + 6 = 41. 

 

 

S28. Ans.(d) 

Sol. Meaningful sequence: 

2. Plant, 4. Cotton, 1. Yarn, 5. Cloth, 3. Saree 

 

 

S29. Ans.(b) 

Sol.  

 

 

S30. Ans.(c) 

Sol. 

 
 

 

S31.Ans.(b) 

Sol. 
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S32.Ans.(d) 
Sol. 

 
S33.Ans.(d) 
Sol. 
D(4) + I(9) = M(13)  
C(3) + R(18) = U(21)  
 
 
S34.Ans.(a) 
Sol. 

 
 
 
S35.Ans.(a) 
Sol. 
(6)² : (6 – 1)² : : (10)² : (10 – 1)² 
 
 
S36.Ans.(b) 
Sol. 

 
 
 
S37.Ans.(b) 
Sol. 

 
 
 
 

 
 
S38.Ans.(d) 

 

S39. Ans.(b) 

Sol. Clearly, nine days ago, it was Thursday. 

∴ Today is Saturday. 

 

S40.Ans.(b) 

Sol.  

 
 

 

S41.Ans. (b) 

Sol.   
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S42.Ans. (c) 

Sol.  

 

 

S43.Ans. (b) 

Sol. 18 + 6 ÷ 5 = 9.6 

After Interchange, 
 
 18 ÷ 5 + 6 = 9.6 
 3.6 + 6 = 9.6 

 

 

 

S44.Ans. (a) 

Sol. Except faster, all other words denote 

shape and size. 
 
 
 
 
 
S45.Ans. (d) 

Sol.  
 

 
 
 
 
S46.Ans. (c) 

Sol.  
 
 
 
 
S47.Ans. (d) 

Sol. There is no ‘O’ letter in the given word. 
 
 
 
 
 
 

S48.Ans. (b) 

Sol. 7 × 3 = 21  
14 × 3 = 42  
18 × 3 = 54 
 
 
 
 
S49.Ans. (d) 

Sol. The six colors are: Indigo, Violet, Orange, 

Red, Green and Blue. 
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The colors Indigo, Blue and Red are on the 
faces adjacent to Green and therefore, these 
colors cannot be on the face opposite to 
Green. 
 
After careful observation of all the views of 
dice, it is clear that Orange lies opposite to 
Green. 

 

 

S50.Ans. (c) 

Sol. 12 + 6 = 18 educated people are employed. 
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